900 Long Lake Road, Suite 200 St. Paul, Minnesota 55112 United States www.ghd.com



Our ref: 11222418-LTR-45

May 16, 2022

Mr. Phil Richard Wisconsin Department of Natural Resources 875 S. 4<sup>th</sup> Avenue Park Falls. Wisconsin 54552

Monthly Status Update – April 2022 Penta Wood Products Superfund Site Siren, Wisconsin WDNR BRRTS Activity #02-07-000532

Dear Phil:

GHD Services Inc. (GHD) has prepared this monthly status update for the period of April 2022 for the Penta Wood Products Superfund Site (Site). The project budget and costs are summarized in the following Table 1. All problems, resolutions, and/or recommended solutions with an assessment of data collected during this period will be provided in the Annual Report – 2022. The following is a brief summary of the work completed.

# 1. Task 03.01 Site safety plan preparation

No work was performed for this task during this period.

## 2. Task 03.02 Housekeeping and grounds keeping

- Subcontractor contracts and reviews were conducted.
- Annual fire extinguisher inspections and maintenance was coordinated.

# Task 03.03 Semiannual groundwater/LNAPL level monitoring

- The April 2022 groundwater/LNAPL level monitoring event was performed on April 8, 2022.
- A preliminary review of the data was completed.
- This invoice includes subcontractor (Field Environmental Instruments) costs for field monitoring equipment rental during the April 2021 groundwater/LNAPL level monitoring event.

# 4. Task 03.04 Semiannual groundwater well sampling

- The April 2022 groundwater well sampling event was performed on April 11 through 14, 2022. A sample could not be collected from well MW21 due to insufficient water in the well casing during April 2022.
- A preliminary review of the data was completed.
- This invoice includes subcontractor (Field Environmental Instruments) costs for field monitoring equipment rental during the April 2021 groundwater/LNAPL level monitoring event.
- This invoice includes expenses for vehicle mileage, rental vehicle gas, sampling supplies, and sample cooler ice.

## 5. Task 03.05 Semiannual residential well sampling

The April 2022 residential well sampling event was performed on April 14, 2022. The outside water spigot was not turned on, and a sample could not be collected from well RW-2 during April 2022. A sample will be collected from this well after the owner turns the water on.

## 6. Task 03.06 Semiannual reporting

No work was performed for this task during this period.

# 7. Task 03.07 Monthly reporting

- Periodic project updates were provided to WDNR.
- The project budget was updated.
- The Monthly Status Update March 2022 was submitted on April 14, 2022.

# 8. Task 03.08 Regulatory communications

No work was performed for this task during this period.

#### 9. Task 03.09 Additional work

- A list of potential action items and outstanding work was developed for the Site.
- The WDNR contract was reviewed for the engineering and oversight associated with the wetland excavation and surface debris mitigation.

Should you have questions, please do not hesitate to contact us.

Regards,

Tim Ree

Project Manager / Project Engineer

+1 612 524-6866 tim.ree@ghd.com

TR/lg/LTR-45

Encl.

Copy to: Celine Wysgalla, USEPA (via email)

Judy Fassbender, WDNR Madison (via email) Chris Saari, WDNR Ashland (via email) Adrian Herrera, WDNR Madison (via email) Jacob Sedivy, WDNR Spooner (via email)

#### Table 1

#### 2022 Scope of Work and Budget Summary Penta Wood Products Superfund Site Siren, Wisconsin

GHD Project Number 11222418

Task 03 - January 1, 2022 - December 31, 2022

# 2022 Scope of Work and Budget

Budget			Proje	ct Costs
		0	Dunisia de laccada a al	T-

				and budget			Froject Costs			
			Estimated			Current	Previous Invoiced	Total		
Task	Description	Unit	Quantity	Unit Cost	Budget	Invoice Cost 4/30/2022	Cost (through 4/2/2022)	Invoiced Cost (through 4/30/2022)	Budget Remaining (through 4/30/2022)	
1	Site safety plan preparation	Plan	1	\$ 1,386.00	\$ 1,386.00	\$ -	\$ 833.13			
2	Housekeeping and grounds keeping	Time and materials	1	\$ 19,781.00	\$ 19,781.00	\$ 316.89	\$ 917.52	\$ 1,234.41	\$ 18,546.59	
3	Semiannual groundwater/LNAPL level monitoring	Event	2	\$ 5,603.45	\$ 11,206.90	\$ 3,291.70	\$ 422.52	\$ 3,714.22	\$ 7,492.68	
4	Semiannual groundwater well sampling	Event	2	\$ 43,059.60	\$ 86,119.20	\$ 17,768.00	\$ 1,158.30	\$ 18,926.30	\$ 67,192.90	
5	Semiannual residential well sampling	Event	2	\$ 10,094.00	\$ 20,188.00	\$ 1,935.39	\$ 1,807.16	\$ 3,742.55	\$ 16,445.45	
6	Semiannual reporting	Report	2	\$ 11,425.55	\$ 22,851.10	\$ -	\$ 7,131.22	\$ 7,131.22	\$ 15,719.88	
7	Monthly reporting	Report	12	\$ 2,170.73	\$ 26,048.70	\$ 2,131.57	\$ 5,437.29	\$ 7,568.86	\$ 18,479.84	
8	Regulatory communications	Pre-approved by WDNR	1	\$ 9,240.25	\$ 9,240.25	\$ -	\$ 633.75	\$ 633.75	\$ 8,606.50	
9	Additional work	Pre-approved by WDNR	1	\$ 14,076.75	\$ 14,076.75	\$ 1,056.26	\$ 1,000.38	\$ 2,056.64	\$ 12,020.11	
				2022 get Total	\$ 210,897.90	\$ 26,499.81	\$ 19,341.27	\$ 45,841.08	\$ 165,056.82	